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Ritp://farbe i tu-berlin.de/ CEDE/CEDBL ONA.TXT /.PS: start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDu6 triange lightness
t* YocmYw - nc=100, o
.
=In(A 15+A2Y)/(AzrAon) Q(c/100<Y<-YC)
HBJR%% 23069 § o
-gmb/mgﬁodgtx_w‘(u)
t*}qta,’esgzm?‘lg@& 498 (904776
1
L4
L4
4
04
v 1
tog=775 32, A ,=1,0 3,~0,1044, ¢=1,00
t*16=49%,,34, 4,=0,/41, A=0,0058 . =
t36249, 17 =434 =18 1 Aphcation
L4 ]

=l

xN=0,2 Xw=5

LABJINDu6

tristimulus value difference

Yoc=Yw nc=100,
L ABINDUs =IN(A1ntAZNY)(A2rAon)  (Yad/100<Y<=Y,o)
1 AgNDus =IN(A 10t A2X)(A2iAon) - (X=YTYy)
dv:AOn(A1n+A2nY)=A0n(A1n+A2uX) X:YIYU
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

'OQW =t %% %
AYige0.12, p,_,,,_o 0058
dY3 0,03 Y,=16, BY=0,12 o
1

xN=0,2 Xw=5

log (AY/Y) LABJINDU6

_ tristimulus value sensitivity
S=@vr) YotV nc=100
L ABINDUs =IN(A1ntAZNY)(A2rAon)  (Yad/100<Y<=Y,o)
1 AgaNDus =IN(A 10t A2X)(A2iAon) - (X=YTYy)
AYY=Ag(Arr Ao Y)Y =Agn(Ag A )Y
(AY/YhE0,105Y, 7y, 0, A =0,1044, ¢=1,00
(dY/Y)g=0.00c7 A=0.017, A4,=0,0058
(dY/Y) ¢=0,010% Yu_;; avinig

§ - =
log(dY/Y)=-2,17 m,=-0,%a application
gdY/Y) my % u gy idoe
t*,=498 dY,=0,12 dY,/Y,=0,0067 1
1

ot

xN=0,2 Xw=5

LABJINDu6

tristimulus value contrast

Yoc=Yw nc=100

L AgINDus =IN(A1n A2 Y)(A2rAon)  (Yad100<Y<=Y,o)

t*LaBINDUs =IN(A 10t A2 )/ (AoAon)  (X=YTYY)

YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(Y/dY}5=166,97, Ay=1,0, Ay, =0,1044, ¢=1,00
(Y/dY)g=148,27, A=0,017, A=0,0058

Y/dY), =95,03 Y,=18, dY=0,12
(_493 %? =012 W/dvu 14g

C,=(Y/AY)

application
range

LABJNDuG relative triangle lightnesst*/t*,

e, Yoc=Yw - nc=100,

t* L ABINDUS =IN(A 17+ ALY /(AsnAgn)  (Yh/100<Y<=Y,)
t*LagINDUs =IN(A 1+ A X (Ao Ao (X=Y/Yy)
t*(3,6)=219.t* ,(18)=498 t*,,(90)=776

t* g/t =1,55, Apy=1,0, Ap=0,1044, ¢=1,00

t*1g/t*=1,00, A,=0,017, A,=0,0058

t*3 gt*;=0,43,t,=498,34 Y- 18 < .

t/t*y=1, m,=0,79

L*,=49,t* ;=498 e
ange

=1

Xw=5

log(AY/AY,) LABJNDuUS relative

tristimulus value difference
AN/N Yoc=Yw =100,

t*LaBINDUs =IN(A 1n+A20Y)/(A2rAon)  (Ynd/100<Y<=Y,()
t* 1 ABINDUS=IN(A 1AL (A Ao (X=YTY)
AY/dY =(AqntA2X)(A1ntAgy)
dYo/dY,=4,43, Ay=1,0, Ay =0,1044, ¢=1,00
dY;g/dY,=1,00, A ,=0,017, A=0,0058
dY3 ¢dY,=0,31, Y,=18, dY=7,12 4

t*,=498 d 12 dY,,/‘:u_:(l '_1_06_7"‘

log [(AY/Y) 1 AYIY),] LABJINDUS relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
t*LaBINDUs =IN(A 1n+A20Y)/(A2rAon)  (Ynd/100<Y<=Y,()
tLaganDus=IN(A1ntA20X)/(A2iAon) - (X=Y7Yy)
@YYV, =IA 10t AaX)/Xull (A 1n+Agy)
(@YY .88, Ax=L,0, Apy=0,1044, 6=1,00
(dY/Y)g(dY/Y)=1.00, . =0.017. /4,=0,0058
(@YY, g(dYV)=1,53 Yu 18 dY=012

Ay
log[(dY/YY(dY/Y)]=0, m=-0,13
1 application
t*,=498 dY,=0,12 dY,/¥,=0,0067;  HEE

=1

XN=0,2 Xw=5

log [(Y/AY) 1 (YIAY),] LABJINDuUS relative

tistimulus value contrast
CrlCru=(YIAV(YIAY), o e ¥ o3 0
t*LagaNDus=IN(A1ntAY)(A2rAcn)  (Yad/100<Y<=Yyo)
tLagaNDus =IN(A1ntA2X)(A2iAon) - (X=Y7Yy)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIdYpo/(YIdY}=1,12, Ay=1,0, Ay =0,1044, ¢=1,00
(Y/dY)g¢/(Y/dY)=1,00, A ,=0,017, A;=0,0058
(Y/dY} g(Y/dY)=0,64 Y, =18, dY=0,12
log[(Y/dYY(Y/dY),]=0, m,=0,13

application
range

LABJNDu6 triangle lightr.es 57,
YoceL*w - ne=100, ]
.

4
BINouBZIN(A LA ) (AorAor) €¥d100<Y<=Y, )
Tiﬁ“bswglﬁs lg %)KAQLAOH% (x=Y1Yy)
Tth;f,e;a;ziaﬂZ‘%ms) 4987 (9OET76
l' 1
*
. 1
' 1

.

775,82, Ay 3. A,=0, 1054 ¢=1,00
T*18=49834 A I0fT, B F0Q058 = = = -
T*36=219,17,7 '448 34 Y= 18| rfr‘.’ge
A l |>h 1

XxN=0,2 Xw=5

CED61-1A
logAY) LABJINDu6

AY tristimulus value difference
YomL*yy - =100,
T*LABINDUG=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
T*LABINDu=IN(A 1+ A2/ (A2 Aon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X=YIYL|
Aonpes=1,5, Aon a=1,0, see CIE 230:2019
3
X *
T*,=498 dY,=0,12 dY,/Y,=0, l"JP‘ .

IOQW =) r}%-o ()r’ Lo Af44| =il =
leg—O 12, A~ 5 r=0,00$8 a{;)phcauon
dY3,6=0,03 Y,=16, u\(, 0,12

XN=0,2

CED61-3A
log (AY/Y) LABJINDUG

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’

T*LABINDUG=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)
T*LaBINDu=IN(A 1+t A20)/(A2uAon) - (X=YTYy)
AYIY=Por(A it AgaY)Y=Ag (A it AgX)/Y
(dY/Y}5=0,0059, A,=1,0, Ay, =0,1044, ¢=1,00
(dY/Y)g=0.0057, A=0,017, A4,=0,0058
(dY/Y} =0,0105 “,=18, dY=0,12

%
— -0 application
ogAYE2 I Mz OB g _a‘}f’ge
T*,=498 dY,=0,12 dY,/Y,=0,0067
1

ot

XN=0,2 Xw=5

CED61-5A
log (Y/AY) LABJINDu6

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’

T*LABINDUG=IN(A 17+ A2nY)/(A2nA0n)  (Yd/100<Y<=Yyo)

T aganDus=IN(A 10+t A2X)/(AgAon)  (X=YT1Y,)

YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(Y/dY}5=166,97, Ay=1,0, Ay, =0,1044, ¢=1,00
(Y/dY)g=148,27, A=0,017, A4,=0,0058
(1(4/‘%\&);&9500132\(% /dvud¥40 =

log(Y/dY)=2,17, m,=0,13 »
-

1

1

1 application
1 range

Ix=1

Pw=5

CED61-7A
CED61-7N

THT* LABJNDuG relative triangle lightness T*/T*

THT*, Yoc=L*w - nc=100,

T*LABINDUG =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUG=IN(A 10t A2 (A2 Aon)  (X=YTYy)
T*N(3,6)=219,T*,(18)=498,T*,(90)=776
T*9o/T*,=1,55, Ay=1,0, Ap,=0,1044, ¢=1,00
T4,g/T*,=1,00, A=0,017, £,~0,0058
T3¢ T#,=0,43,T,=498,34 Y =18
T*/T* =1, m;=0,79
ST TRT e application
range

CED61-2A
log(AY/AY,) LABJNDuUS relative

tristimulus value difference
AYIAY, Ve irl
T*LABINDUG =IN(A 1ntA2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUG=IN(A 1ntA2) (A2 Aon)  (X=YTYy)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=1,0, Ay=0,1044, ¢=1,00
dY,g/dY,=1,00, A,=0,017, 4,=0,0058
dY;,ddY,=0,31 Y,=18, dY=0,12 %

/.

CED61-4A
log [(AY/Y) | (AYIY),] LABJNDUS relative

tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc’
T*LABINDUG =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUG=IN(A 1ntA2)/(A2uPon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(@Y/Y)o(dY/Y}=0,88, Ay=1,0, Ay, =0,1044, ¢=1,00
dY/7Y)g/(dY/Y)=s 20, A=0,017, A=0,0058

=
log[(dY/YY(dY/Y)]=0, m=-0,13
application
T*,=498 dY,=0,12 dY,/¥,=0,006%,  HEE

=1

XNn=0,2 Xw=5

CED61-6A
log [(Y/AY) I (YIAY),] LABJINDuUS relative

/Gy =(YIAYY(YIAY), t\}stlnﬂylus value contrast

nc™

T*LABINDUG =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)

T*LABINDUG=IN(A 1ntA2)/(A2uPon)  (X=YTYy)

(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAYhg/(Y/dY)=1,12, Ay=1,0, Ay=0,1044, G=1,00
(Y/dY)g/(Y/dY)=1,00, A=0,017, /5,=0,0058
(YIdYy g (Y/dY)=0,64 Y,~18, d=0.12

log[(Y/dY)( YldYL] -0, mu 013

application
range

CED61-8A

TUB-test chart CED6; LABIJNDuUG*(Y) & T*(Y), Yn&=(Y&L*) wrcBne &x=1,00, with more data
Absolute and relatlve lightness, sensmwty and contragtzRAS5, A1n=0,017, Agn—O 0058, /&u—o 10
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